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1. Fill in the blanks : 1x7=7
Un R AT |
(a) Vassopressin hormone deficiency
CAUSES ..vvvrereenennnes disease.
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(b) Contraction of the heart starts at the
................. node.
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clibeydig cells BECIELE ... .onsreensss (d) Significance of Urea Cycle.

hormone. 3TRa b wiesid |
?{3 lﬁgs‘[ SRBUS Rt e R T _ (e) What is muscle contraction ?
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(d) The peptic cells of gastric glands secrete

.................

3. Write short notes on : (any three)
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[elisane. . % isithe . : (a) Oxygen dissociation curve
----- protein part of D
holoenzyme. : wfse (<ere
................. (R (T B ' b =i | () p-oxidation of palmitic acid
(/ ‘Bundle of His’is found in ................. _ sEfie afReq RO @™
e el ... -9 '\ﬂzq-f-‘gél (c) Krebs’ cycle
(g SRy gland secretes luteinizing (TR b
hormone. ' (d) Neurotransmitter
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2. Answer in brief : (any four) ox4=8 (e) Role of hormones in female reproductive
b Beq i 5 Rtz IE)) system. ,
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efine Michaelis constant.
SENE Y ferat 4. What is blood coagulation ? Describe. in
(b) “{hat is chloride shift ? detail the mechanism of blood coagulation.
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What is digestion ? Explain in detail the
physiological process of carbohydrate
digestion in man. _ 2+8=10
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5. Describe the mechanism of Enzyme action ?

Write a brief note on Enzyme Kinetics.
- 5+5=10
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Define action potential. Describe in detail
the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10
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6. What is countercurrent mechanism ? Write’
a short note on mechanism of urine

formation. 5+5=10
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Explain in detail the mechanism of Electron
Transport Chain in mitochondria. : 10
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